an

Qa7 #3  (Sm)

‘7 lf 4
Phot T deof / ‘ n
/ qa:m / gag indigll,, XEZ
! {’/ /
£
— /
o ra
'F(‘f c)n‘on }esr prsten _
d 50}1\ Sides axe in . . .H!ermf.. .eguq‘/fbrium with q /mal— botl o7 4er~m T
h '3 — ‘L{G q - _‘. ,‘
F Ol‘w\ 303. @f\MKLdencif;/ U= =T p = U= XU . C )
(525.67:1p-% Tem?K")
° NET
Teal  qas: vl "_
P (z) [ ot
at coonctatt %emgcpc,h,r(/ ,(L);' _l_,-—X\ Paziorbal 'B!}:.SS(;»(_,.:'..  GfFim
R
pkow‘mﬁqu inn'«‘iq/ pHrsSue = 3@6.—/ - 2‘/(9 m= 2 /0
_at- condant *emzcrm‘zm_,,, Photon pressua is consters  Cingegendent o€ yo/um)
*at  equilibavwn wirh the heat hath  pobh goses shsn/, ok -kmLT..
EQU:'):'})m’um ~ wodd  pecor when Pnh Pm as  x (s, vaacd by Hhis dors
7\04' ‘\m‘wcr\ !\fn‘.. ‘Om: MM is P” Yy Q'f‘f"j While )
2
ﬂg, ?3\0"’0(\ qas ?Q@Sym_ e 240" afm ]
*The pihn  mowes  all H\e wa, o x=0
b‘ /\/0 })(014' BO’H‘, ,‘r\Sulav‘;‘ng P;‘ﬁo/a
AG_)=O ﬁ)r lao,th QaSes (&o/mbaﬁ'c\i
dE’th ‘-PP}\dZ’J\ d[ar<= - S48 d\/_’}AS— deoh +dét‘16ﬂi0
CIT\ the ,.QWSf.SiORC Cos¢,  efery of the  total System i not CanSerufc‘)j AF)CCO»D&.
A\l/ moving M guasisthcally  Hhe kineke energy of the piston which  exick :
becaug, Pon# Pcs so  thee i5 ¢ pet :‘ﬁéfcc,ﬁ IS cConbinveusis remowd)
——— . ’ -5-
,Ldeaf Qus, Odr‘aim?ic : P \/cas = constenk ( take : L
¥
Vo= A (LX) D oo (LX) 2ot 2 Pﬁﬁs(/w) = cons) |
P}]O+Qh 96{5 OO’y'abaHL eond) Hon
de = -PdV




E=umnV de=/ € a1+ (96 dV = c?;mvx dr 4 uaVl

F /
orh  \oV/L a7
do\l (e il (:rl‘\}” —D/J\/ P:’ o((/L
v T TTuuv TV 7
al
Gl;’@‘cg: —Co(H)_(_,_(_d\/ duy - -(a<+132(_1/
di” \% s V4
{
Ing=_ =(at)lnv + C
M\/cm:(onsl. P= ot
D Voo =cons V= Ax
Pk P
it
= Pph‘(fj =~ consh, s
X _,
e 171453 Pgas (l —Z) = ‘Dﬂ’Zi
]plohar\ CLER Pon XN P%b-‘_’.—l-’;
&) 2
X
Z/d' W=+t
Pmﬂu' P Pon= Fon-s
2 7( J'L()b, ZdH‘ (,(,d+/
L;QUi/I\bn.UM ocLeurs W}\tn Pga_g:Ppk’- o
¥-lan ) 4
Pc: ~ E;Lh-o E%dH: AR Pph-o ("M>
YW T SEE et
Z (’ (() - 277U DLH_‘. -
L % o3 L 2k o+
2% =27 P (I-d) (Jo V.27 US £u =]
= i UFen-o/
o N . ,
P , So _ Fhe Fiest eom i mueh much  afeatce thop the Second termm
" L Fl . 5/ c 1
W& (Pono\n oz ¥ei ¥y grae gol=q
Py
R
U [ Py s\ 2 b
\ 7,/
X -8
w'=e= L1-{0
P}\D\LDI\ Gos *emura}um: P, = PPNO — = -%ng"'m ~ g|§,0'1 N/M'L
T v ¥ ZO(T"(A“Y—I
z 1,/‘1
P .= 3:(L= gg:TL = 4G oha T= (C,; ‘yya*h\)






